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(2) FARH
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(4) SWAN
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(5) SR TE I =wd |

geat @t AT R E?
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(2) 6371 for.H.
@) 8371 fwH
@) 9371fFd
(5) SR e <A |
3ﬁ2014ﬁgﬁq§q‘afm§auiﬂ'$r3€¥ﬂ%z
(1) dfada= & e geH
2) mﬁﬁ#faﬁmmaﬁmmsﬁﬁiﬁf
T, S e Fand gEr |
(3)  Frafi ST S A T ST TR ST
Frebrao <fed e Mg e 1 wfeAfed w |
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VNATH / H1

Which one of the following refers to the
troduced in all government

programme in .
ools to provide children with

elementary sch
cooked lunch ?
(1) Sarv Shiksha Abhiyan

(2) Mahila Samakhya

(3) Mid-day meal

(4) Beti Bachao, Beti Padhao
(5) - Not Attempted

Bihu’ festival is celebrated in which Indian
State ?

(1) Assam

(2) Karnataka -

(3) Punjab

(4) Uttar Pradesh

(5) Not Attempted

World Environment Day is celebrated on :
(1) 7th July

(2) 5th June
(3) 7th June
(4) 5thJuly

(5) Not Attempted

What is the radius of the earth ?

(1) 2371 km
(2) 6371 km
(3) 8371km
(4) 9371 km

(5) Not Attempted

‘Mission Indradhanush’ launched i
S eaen H ched in the year
(1) To provide education to i
_ th
children. jrieprived
(2) To provifie information, commodities
and service to meet the diverse need of
adolescents.

3) To cover children who have been
part.lally or not vaccinated during
routine immunisation rounds.

(4) To provide affordable and quality
healthcare to the rural population

(5)  Not Attempted .
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— <FeeroT™ - el Ve @ Wi yig % | 6. Appam, Puttu and Idiyappam
.{’;?;2;7 belong to which State of India o

- (1) {erala
(1)s- ™ - (2) Punjab
(2) R 3 (3 Gujarat
(3 I ‘ "{:1\ Orissa
(4) ) \ P fi]y Not é\w"-uu,:n—_n
(5) ST A WA

100d ,h_,r'-”_{

6.

The earth'is surrounded

gﬁﬁa?aﬁl IR RAN AL : 4 called %Y 4 layer of &e
(1) ey | (1) Climate

Q) A=A 7% . il (2) Ozone

(3) TR F | (3) Environment

@) agEEws 4 " (4) Atmosphere

(5) SWTE <M EEA| = 4 (5)  NotAttempted

\.‘Mi?(d;\ ‘)qu!; .it[;‘ I‘l\i‘;a» 'aﬁi!§i‘i. freedom ?

STRA 1 T o T 9T g8 2
(1) 1951 : e
(2) 1930 k-
(3) 1950 -
4) 1947 N j (3) 1950

5) SWIETEw=A 4 1947

¥ (5)  Not Attempted
ST et fovafaeer el Tt & 2.
(1)
@ : (1)-  Lucknow
3 (2) Aligarh
) (3)° Bhopal
1 (4)  Delhi
(5)° Not Attempted

(1) 1951

(2) 1930

Where is Jamia Islamia University situated 2

o s +arv of
SR & AEE o B % R ¥ A History
i 5 R R (C "?H':;“"(«,:/ of the ’0\"“9 2

Who is the "-\‘.‘?ili‘!"v
British India’ ?

(1) Lord Curzon
(2)  James Mill v
(3) Warren Hastings

v -4 Mountbatten
(4) Lorad MO ; e
(5) ;er.s;,.w.uis:-i."f‘, ___— page:

e —
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11. ‘g’ fFrafafea 3 @ fags us w0 E, o odamg

H I S & 2

(1) S

(2) &

@) T

(4) SmEm

(5) ST ="

12. CE'Idade:

(1) gt

Q) FR FER
(3) T TR

@) HEET
(5) S IMIRAI

13. SFFIUAT 2011 % TR, 9Rd 1 QISRAT T &

(1) 830
@ 730
@) 780
4) 880
(5) WAL <A =R |

14. T (MAA) F1d50 %1 fagqa T 182

Dupatta

(3)
(4).
(5)

Ornament

Not Attempted

A

(4) €
(5) NotAttempte 1

As pei'

is:
(1) 830
@ 73.0

3) 780"
(4 880
(5)  Not Attempted

i ST SrEde o) @) Menstrual hygiene.
@ =i SRS (e 7 f 3 )) (2) Mother
) == N i (trf:é e (3)  Mother’s Absolutr vz;i,irazi;(;;%-.
(4) wiwd fRei (AT ) () Mother And Adolescent
(5) A & A (5)  NotAttempteq
1S. ’aa'ﬂ W%EW "la:k-s‘ ”Ela;mﬁ j m 15. Who se. .n ‘as ‘? T A
T2 General‘A ‘-_7‘ free Indnv ‘s first Govern?
1 awaha -
(1) Wm':!ﬁ ( ) J ‘7‘.1”“‘ -q; ‘Nehru
@) . aerigrerEr (2)  C.Rajagop B
(3) WWWW (3) gi'.'if:l,\‘v, Y v r':'-‘“”!i
(4) ﬁ]ﬂ’mm (4’ “”‘”\ "!:‘lx.
VNM(S’\TW&N@, ) NobAttempteq
HIH1 1= et 2 Py vorrr  QPACE FOR RO I~ s —




16. /—ﬁﬁ%maﬁ—aﬁa&mﬁaﬁ%u 16.
() faafD
2 T A
(3) faafmBl
(4) faafmC
(5) SR TE S A |

7, T T A T A I e 3 50 v
5| o sl wiafers % sftw foft gt Bt ? 17.
(1) 75 TR
(2) 100 HEHR
(3) 25 HIAHR
(@) 50 FAHIX
(5 IR T < = |

18. qen e Q BN et st
gl 18.
(1) e 3R Rehed
(2) TEHES AR AR
(3) w0k SR U
(4) TRdl SRS
(5) S el < = |

19. =€ 2016 § WA TR 7 e TR
mm%mmsﬁaa@amm 19.
& T T €
(1) =
(2) S=E
(3) TTA
(4) = 9rd
(5) WAL ST ARA |

20. mﬁﬁmmﬁWWWﬁm
AR 20.
(1) e o
() S
(3) A
4) R
(5) SWHE <1 =R |

VNATH  H1 2% e 3 fere 2T / SPAC

zFonAOUC"

Deficiency of causes beri-berij

disease.

(1) Vitamin D

(2) Vitamin A

(3) Vitamin Bl
4 Vitamin C

(5) Not Attempted

A boy is standing at a distance

! of 50 ¢
the plane mirror. What will be the d?s)t;rom
between the mirror and the image ? e

(1) 75cm
(2) 100cm
(3) 25cm
(4) SO0cm
(5) Not Attempted
and are water borne
diseases.
(1)  Polio and Rickets
(2) Typhoid and Meningitis
(3) Beri-Beri and Dysentery
(4) Scurvy and Cholera
(5) Not Attempted

In the year 20 16, the Government of India }éa:
initiated a mission called.___,,.1'1_—;611;:6en
which a proper Sewage disposal ha

started.
(1) Namami Gange
) Ujjwala
(3) Udaan
(4) Swachh Bharat
(5) Not Attempted
jonof :

Yeast is used in the productlo

ea e P
(1) Hydrochlorxc Acid
(2) sugar
(3) Oxygen

hol

(4) Alco ) _

Not Atte™P

(5)
woRK



T 1 & T N Seemr § o Ul
HISHT T TR ST W )

Feiraa

EISENI

Sfafsean e

T

S| & =Ry |

Iﬁﬁﬁﬁﬁga%ﬁm-nﬁﬁqw

ma@mﬁm:

WY1 WY - 11
B T & 0
B ‘o fefiifes () _@_
(C) o sew a
D) = v —~
T forehey g

1) (A)-av), (B)-(111), (C)-(1), (D)-(1)
@) (@A)-m, (B)-(11), (C)-(111), (D)-(1v)
) (a)-, (B)-(1), (C)-(1), (D)-(1v)
@ (@A)-av), (B)-(1), (C)-(11), (D)-(111)
(5) 3 T &=y

24. ﬁﬁ%ﬁ@qﬁﬁﬁﬁﬁﬂ@?ﬁﬁﬁ@mﬂﬁﬁ%?

1) W%W*ﬂﬂmaﬁmﬁfmaﬁ?itﬂﬂ
SRR BT B

%&Nﬁmaﬁw&aﬁ
T =

Wﬁa@ﬁ@@ﬁﬁmmw

()
(4)

v ° SR b & |
Nj Not Att kbOne "vith Cylindrical bod)'
: | ?tﬁamf%si%mzena/ SPACE FOR ROUGH Woernpted 2
Rk

21.

22.

23.

24,

Hepatitis ‘A’ is caused by :
(1)  Protozoa

(2) Bacteria

(3) Virus

(4) Fungt

(5)  NotAttempted

The property of metals b‘y which they can
beaten into thin sheets is called :

(1) Malleability
(2)  Conductivity
(8) Reactivity

(4)  Ductility

(5 Not Attempted

Match electrical component gijvep j,

Column - I with the symbol] given ip
Column - J1 .

Column -

Column -1
(A)  Electric cell (I ._,;_‘ -
B)  Switch in ‘ON’ (I1) _@

Position - .

©) Electric Bulb (I11) _
(D) Battery

vV —
Choose the ™M N

Correct optidn k
((;; (A)-(tv), (B)-(11y), (©)-(m), (D))
(A)-(), (B)-(1m), (C)-(1m), (D)-(1v)

(3) (AHHI)» (B)-(1
G (B ), (C)-(1), (D)-(1v)

S I s -
) Not Attempte)d ©-w, (D)-(111)

Which of t
of fish 2 he

1) Hegg

(2)
(3)

Nce .
9 of gil
((5)) ok back,



o5, e e SATR 1 T 1 T = w2, @

25. If a person’s kidney stops working, They
@ 1 AT FIF 50 freer fop s ¥ st A7 cannot survive unles:s their blood is filtered
SHfea T T WA | 9% 9RE Feemd ¥, by artificial kidney. This process is called :
Elearec (1) Elimination
((21: IS (2) Excretion
3) Tafafag (3) Dialysis
4) T=E (4)  Transpiration
(5) SWTE < =9 | (5)  Not Attempted
26. - EalIER ‘E} SO % i@ ¥q fwwt | 26-  No medium is required for transfer of heat by
TTEH il SEvIHAl T8l Biat § the process of
(1) SIS (1) Transpiration
2 Tofsw (2) Radiation
) = (3) Conduction
(4) =& (4)  Convection
(5) =W =y (5)  Not Attempted
. YT e T @ o ¥ 27. Earthworms breathe through their
o m (1) Skin
AL (2) Lungs
(:: (3) Tracheae
(5)) ::j:; s (4) Gills
) ! (5) Not Attempted
28, SR e L P
(1) 3mEg ' 28. The SI unit of mass is:
2) 7m (1) ounce
(3) T (2) gram
4 gEe (3) kilogram
- 4 und
M :Si :(:)t attempted page 7
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Match the following:

: gifera 29.
: (IT) (1)) ()
() FHEERTT (A) Lamina ()  Weak ste
(11) eI (B) Petal (IT) Ovary
() = (C) Pistil (I} Leaf
4 ' (IV) Flower
fagdt sar wv) = (D)  Creeper
(A)-(0), (B)-(Iny), (C)-(1v), (D)-(1) (1) (A)-(I), (B)-(I), (C)-(IV), (D)-(1)
(A)-(1), (B)-(1V), (C)-(11), (D)-(1) (2)  (A)-(1), (B)-(IV), (C)-(11), (D)-(1)
(A)-(1), (B)-(1), (C)-(1), (D)-(1v) (3)  (A)-(), (B)-(1I), (C)-(I), (D)-(IV)
(A)-AV), (B)-), (C)- (), (D)-() 4 (A)-aV), (B)-(I1), (C)-(III), (D)-()
SW TET < =T | (5) Not Attempted
T J - et ST fiereTe T & 2 30. Which of the following is not a terrest
(1) "TmFiH ' habitat ?
(2 <= (1) Grassland
3) e (2) Pond
(3) Desert
- @4) auied '
= aﬁﬁ (4)  Rainforest
(5) SWE | (5) © Not Attempted
31. 3fe foreft ad # 25 PR =l TFaR T, O 3G G F 31. Ifosth
. . f 25th 4¢ August j .
[ERERUCCIE U OW many Tye. .} & Year is Thursday, the!
(1) 6 month Y Tuesdays wiy be there in tha
2 3 1) 6
@) 5 @ 3
4 4 3 s
(5) IW AL < =R | 4 4
. ’ (5) Not Att
82. AR Q, R F W H @A WL A Q, Ry “Mpted
YER gy 32, 1 Qg :
(1) ==y T /a8 Q relategottoh%‘, gf SOn of R’ son, then how”
2 (1) Cousip
@) =r=/AE @ son
@) B)  Uncpe
(6) I T & ey ((;)) Grandsoy,
Not A
VNATH 17 <0 Pl 11U 2211/ SPACE FOR RoUaR Wtot::l(pted
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[ g Hlh TSl amrEd . .
Hgm > g1 49 ‘ 33. A rr:)a.n is facing North direction. He turns
1S g : 1] sferomad fewn o _135 in anticlock-wise direction, and then 90°
e 39H1 48 frgfeam A 8?2 In the clock-wise direction. Which direction
is he facing now ?
Rad (1)  West
(2) North-East
(3) North
(4) North-West
(5) Not Attempted
Dl mﬁg,—-q{ga;" sTeafed wH A fean T 34. A set of English letters is given below in a
T.'ﬁ% st = =% FrT jumbled order. Select the combination of
€l 5‘15” | = ° ITER numbers so that the letters arranged
el 1 At H R T A MeACE accordingly will form a meaningful word.
C P K T (@) E C P K T (o) E
12 3 4 5. 6 1 2 3 4 ) 6
1) 4,1,5,2,3,6¢
W (1) 4,1,52,3,6
2 3,51,4,2,6
\ - 2 3,5,1,4,2,6
@) 2,1,5,3,6,4 7cCF¢
@ 2,51,3,64 (6C<E @ 21,53,6,4
(5) Not Attempted
3S. ﬁmmﬁm - . '
& F Hay
R 35. Kilometer is related to Distance in the same
) damg way as Newton is related to :
@ =g (1) Momentum
®) w3 (2) Acceleration
W =g (3) Density
() IW X
oy T ey (4) Force
¢ Attempted
T B NoAwemPl s
%1%t / SPACE FOR ROUGH WORK



2 Tl 1 S 1S <1 175hE I SR I fe e & | ST
T T I T HA BY HI6 A SIS A
{31 &1 Rl 7 Wt ¥ &, o rs%‘;i f& <é'1‘r;» x:wﬁ'n
frreeh ST 7T ShefHl o STTHR U

R/ fFRaa €2

HAT 2

T TR FHl € |

O 0 WATH T |

e«

L Of TR EaEen gl

oL 39 \ﬁ*lscuwl

1) AU TSR 1 uluwl‘dlumcrmiww

2) ’E'TEWFL:B:!U!REKEEH'@H

3) hadl TRy II Fehardn € |

4) TTshuI3 lvﬁdwﬂmcwr £l

ST el ;c_ua(zﬁm

u
u

[ 3TTAT 9 'Zﬂlﬁl{{
)

¥

§IS
°E

4

N
)
A
(;‘.J

< I JEAT ol STl
1, 12, 5

=
-

)

-
g
P St

TED

U’ﬁall u t: fg;)vyl" ] FRYHW
7 ‘HIDE’ = 1 faan

1)
2)

T A, B, C, L) a9 E 9L @1 ST HE i l”:
ife | @e ¥, afed g ® 71 & foh :

\ 2= BTE ST :;g[i ‘A’ & A 31T 4

AL A8 <1 98d |

Tl /| SPACE EAD m

Two statements are ;‘\‘{'"j followed by t,
conclusions I and II. Assuming
*i‘ ii')'l(v)l(bu’-).‘i |"|‘_L (-\‘l'—inuhuiub see

‘Iﬁli'.\‘.‘/// 1( -Lhufl;; -ﬂj_w u.& t;..\‘lrw statem -'LLE‘z
Statements :

All animals are dogs.

Jw dog p a.ﬁ dangerous.

:"' All animals are dangerous.

I. Some dogs are animals.

(1)- Neither Conclusion I nor II follows.
(2)  Only Conclusion I follows.

(3) Only Conclusion II follows.

(4).  Both Conclusions I and II follow.

(5)  NotAttempted

Find the next term of the series :
m! 12, 16, ’)@ 41, :::‘.?::

72.

65

66

69

Not Attempted

ace alncoe. 20 is written &

j _‘FRYHW then how will ‘HIDE’ be wn&en in th
- same language ?

(1) KGEF

(2) KLEF

(3) KLGH

(4)  KLEI

(5)  Not Attempted -

Five children A, B, C, D and E are standing i?
a row, facing North but not necessarily in th°
?:t{nsfo‘;der‘ ‘C’is to the right of ‘E’ and to th
them WhoA and ‘D’ have one child betwee”
o . 1s in the middle of the row ?
(2)

(3)

(4)

(5)  Not Attempteq
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43, qﬁmm?ﬁﬁmmﬁ ammm

25 Wt 168 7 W2 ¥, A A ot o

%

(1)

@)

@3)

(4)

(S)
NATH 47

31 . @ \H/

Kind the odd one ou
(1) lTomato
(2) Ginger
(3) Carrot

(4) Potato

(5) Not Attemptéd

1f45—(28

01 X 18
(1) 29
-29

-19

4) 19

e of simple interest will a sum of

ey doubles itself in 12 years ?

Not Attempted

43. If the length of the diagonal and the area ofa
m and 168 m? respectively,

rectangle are 2
then the longer side of the rectangle is :

(1) 31m
2) 12m
(3) 17 m
4 24m

(5) Not Attempted
page 11
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”".'l‘""lﬂ"“:",i""' are 1I the ratio «

2 &8 2 : 3 h 37U H & | Ffg Skl 411125 & G4 , s
£ sum is H}g;& then the NUMmMDETS &

1) 2436 1) 2
2) 20,30 (2) 20,30
3) 32,78 (3) 32,78

5] I‘;:

(4) 50,75 (4)° 90,7/
5) ST el o1 = | (5)" Not Attempted

a1 9 9= Bl

e g ol + (] . 2 G U S S vork tha i ::"A' Q
e 999 H'A, B 9 20% <hH © o 'ml”'!l afe A , A does iz(fVﬁ'll—{-,w vork than B in the s:
time. If A can complete a piece of wor]

Tl %af??'zﬁi 7Y% H2l § QU Tl T & 1 B SH
I T HAUHERIRRIINT 7 1) 6% hours
(1) 6w .- 5 hours
2 5% b (3) 5% hours
3) 5%He ' (4). 6hours
@) 6%

(5) SR < = |

Not Attempted

2 TEnsi 1 HCF 28 ¥ 31K Siehl LCM 336 ¢
ofz wF TEm 112 & @ -g, esrez i m.ln L’i}ix‘
(1) 92 : (2) 34
(2 34 ¥ (3) 64

, 27

(3) 64 “4 84
4) 84 (5)" Not Attempted

S

L‘“* '.' —“*‘ = e
e E @wL..EDL’l:u lue of x

RIS 1+ 25 + — ‘i dl x <! :_IEHE?FH*
144 (1)
@ 17 (2)
2, 1 & (3)
(3 5 . (4) 13
(4) 13 (5)"  Not At -d
(5) ZaLeAel e = | ec AP
’ The greatest
.‘;’r—;?', 'df“‘.;'“,! ;_l nl’" 1‘ F ’ o € ﬁ 1‘1 '” £ 1(‘ H 'S iv ;‘(l‘,4:‘s!:.!‘il;ut'::(.\\:jkt(q" IVIdeSatteh
ho" it numbo er, exactly is and e gre
9 (1) 9 :
34 3
= (2) : (2) ‘\
v - (3) 7 3) 7
5 4) -8 (4) 8
lﬁ ‘3—‘— w AL T < =ed | ” j\ I\( i”t‘ﬁ fciri( d
- il — - Cd
L lv”xﬂ i I hId & Y(Iol” 7751 / SF f‘j-«l'{‘]*uﬁl(‘] ,\hn‘I
r M {
/’. 'L ¥ \ 1L\ ‘:' \ \ ~ ‘l‘\\ 2 4+
o L S o) (IR et

W\ v
?/\ \\\W‘a\ v al "
w4 = B \G\L!\ <\ ¥ 0N MY

0 A gad 98 §E e
\7

S




< el o1 dred |

22,000
71,280
21,600
21,920
=77 7 & A |

5 - | & = %1 9EA T 15 T fhemm € SEfs

PR - 11 3 e 1 9ed % 20 Ui fremm €1 4t

5 wradi 12 : 3 1 fyarn w1 e, i fagm
ALY

r 2°
'\),'5

7]

-5
4

Not Attempted

Arun buys a pair of skates at a sale where
the discount given is 20%. If the amount he
which of the following is

pays is 71,600, then

the marked price of the pair of skates ?
(1) ¥2,000

(20 T1,280

@ X 1,600

@) 1,920

(5) Not Attempted

The cost of type - I rice is ¥ 15 per kg and of
type - II rice is ¥ 20 per kg. If rice of both
types are mixed in the ratio 2 : 3, then the
§ost price per kg of the mixed variety of rice

18 @

(1) ¥19.50
2 T18
@3 T19
(4) 1850

(5) Not Attempted

TG DI
@ f10 2191 / SPACE FOR ROUGH WORK
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A P AV

\,% \/f»
52. 17 %A 1 T 720 § A W, 5 W3 F wA q¢q ¥ | 5
U A R O R e R

(1) %60 AV 260
2) T45 W\ | 745
@) T50 \iv“: ‘ 250
@) 55 5 © \>%( N e
(5) ST A A fép ;"f Not Attempted
X3,
53. T 3T R 0 ot o ¥ 5 S s ¥ 1| 53, The rac m mo
AT I H Th IS AEA 792 T AP Y A [ height. |
T S (S e ¥) g ~ cylinder is @4@&4 then ‘—iﬂﬂ‘"—&
Xﬁ? ~ cylinder (in cm?) is :
(1) 5306 O ™% b 0 =5
@ 5712 ‘ ) : "'_ ) ¥ 5
@) 5244 ' 3 (2 yﬂ‘f
(4) 5544 g &) =0

(4 544
(5) SWTE AR @ ?-M,
Not Attempted

54. ATUIB { FEY: T 22,500 A€ T 35,000 FE9 W,
T SR S0 a1 227,600 & el @9 4 B 5

d T 35,000 respe ctively. Outo

g ¥ "SJ T -~ 6‘( p total proﬁt of ¥ 27,600, B’s share is :
(1) 19,200 e &7 /e (1) 19,200 i
(2) 10,800 (2) 10,800 {
(3) 14,400 (B 14,400 : (
(4) 16,800 4 4) 16,800
(5) =T E < AwRd | (5)  Not Attempted :
55. W& & 550 WA H1 gl 1 Wﬁff‘lm%m §5. A truck covers a distance of 550 metres
- UF 9933 fE #i {ft 45 R A Q@ w81 7% | ;Sml:;ut‘e Wwhereas a bus covers a distanc® (“
w1 T 1 9w AW ST G Vv of the true :5 minutes. The ratio of the ¥
. N 4 Tuck to the speed of the bus is: ¢
(1) 5:3 " ¢ YW 1) s5:3 0
. il £ \ C
(;) 3:4 7NN o5 2 3.4 (1
4: c
) . AN B) 4:3 x
@ 3:5 (
4 3:s (4
(5) =W T =R

(S) Not Attempted ,N\
VNATH / H1 Tt RxBm oo iebanar mo e m———— ‘



oose the correct alternative to improve the
derlined part of the following sentence. If no
improvement is required, your answer is (1).

passengers are requested not to sit on the floor.

1) No Improvement
7)) to not sit '

(3) to not to sit '

4) requested to sit
(5) Not Attempted

Find out the antonym of frequent’.

57.
(1) alarm
(2) rare
(3) return -
4) fear

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

58.

a white elephant |

(1) collapsing

(2) very large

(3) useless
‘ (4) very comfortable
(5) NotAttempted

Change the following sentence into indirect

speech.

Shakti said to his friend, “Look out! There is

a snake behind you”.

(1)  Shakti warned his friend that there was
a snake behind him. ‘

(2) Shakti told his friend to look out as
there is a snake behind him.

(3)  Shakti exclaimed to his friend with
surprise that there could be a snake
behind him.

(4)  Seeing a snake behind him, Shakti
asked his friend to look out.

() Not Attempted

59.

60.
Cl})mose the correctly spelt word,
)

61.

62.

63.

64.

Fill in the blank with suitable alternative.
You will not overtake him unless you
(1) reading

(2) sleep
(3)  walk quickly
(4)  play

(5)  Not Attempted

In the following question, the first and the last
part of the sentence are numbered S, & S,
The rest of the sentence is split into four parts
and named P, Q, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in. many countries

- P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men-

Sg - education and vocation training

() SQRP
2) PQRS
3) QPSR
4 RQPS

(5) Not Attempted

Pick out the part of the sentence which has an
error. If there is no error, your answer is (1).
This is the third communication I have sent /

@
and lam much surprised /
B)
at receiving no answer ,
(€)
(1) No error
2 A
3) ((B)
@) (C)

(5) Not Attempted

Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer. :

(1) The cheque had been taken from the
customer by the accountant.

(2) The cheque is taken from the customer
by the accountant.

() n
(2 hﬁ:ﬂ:s (3) The cheque was taken from the
3) humorous customer by the accountant.
4)  hy (4) The customer was taken the cheque by
6 N e the accountant.

VNaT, gtittempted (5) Not Attempted
H/H1 T ®1d % R0 7ame / SPACE FOR ROUGH WORK Page 15



65. Find out the synonym of the underlined word | 70, ‘@Rﬁ.lff F! 3 3@ EERIE
in the following sentence. gfie 4 e g
To travel hopefully is a better thing than to (1) 'ITH'CﬁW JAcTeh bl
arrive, and the true success is to labour. (2) I STAHTLS
(1) carelessly (3) I BIEIEFR EQl
(2) rationally 4) G RERED
(38) positively (5).  IW Tl <A1 e |
(4) negligence 71. ‘3@ M Y o wa YA aH F @it
(5) Not Attempted Taferss S TAEEE T € -
66. feu T fwy faeey o o+t &1 Yo ®U §? (1) 3@
(2) drieH
1 =
(3) it
@ e 4) WA
@) S=Ed (5) ST & e |
@ T 7o, ‘e T A @Y G HEER & FaifiE 39
(5) FWTH <A T-
. _ (1) e @ @ @Y A
67. ﬁumﬁmﬁumﬁ,@m%— 2) sAfyerifirs 3fd HET |
(1) ST=EnE (3) S T Bl Hord FEAT|
) FUURET (4) STEHUH A 33N
3 gl (5) ST A = |
© 73.  FH-T1 A Fot R H ST B 2
G (1) WY REA
(5) ST | @) 0 ow W # ¥
e ' i = (3) & SR H T/ A
68. ‘faml’ & A A T A 3 @) & s
€ - (5) SR M AR
(n feemn 74, ‘A SR e % o ae’ & fo gt
(2) fremn T TR R -
(3) fremm (1) e
(2 Tyfa
@) from A Gulis
(5) I & A | @) e
69. ﬁqmmﬁmﬁaﬁﬂwquﬁ%? ‘(5) I G I = |
(1) v B v A 75. (?‘;’F Yﬂz':ﬁ?ﬂﬂﬁﬂﬁm‘\’ﬁ.’?ﬁ%-
(2) Wﬁ“wﬂﬁﬂwq%' Q)
@) R @ dEw
(@) == HeAdEAEE (4)
(5) IO T ERd| (5) I T < wmed | L
T — 772 & fere 2t | SPACE FOR ROUGH WORK P8



76. (P]I;)w r;zny districts are there in Haryana ?
(2) 21
(3) 22
i 4) 23
o =edt | (5) Not Attempted
g ga-(vﬁ 8l R & forg o i 77. Boojali, an ornamen_t is worn in which part of
the body by women in Haryana ?
(1) Nose
(2) Ears
3 F orehead
(4) Foot
(5) Not Attempted
: ﬁéﬂml ’ 22-23, what is th
- i -23, what is the
“" 2022-23 & forg e w4 b= x e gg:cgliagg a:)r;illla;la Zcf::l i:(:)penditure allocated
= 1 e Wi STafe e T ? towards Health in the Haryana State ?
5.8% (1) 5.8%
14.2% 2 14.2%
6.2% 3) 6.2%
S% 4) 8.5%
R & | (5) Not Attempted
“HTT | & T FE? 79. Who was the author of epic ‘Mahabharata’ ?
(1). e 9z=d (1) Maharishi Vedvyasa
(2 =M (2) Magh
3) FHaed (3) Kalidas
(4) Tefd arcHiF (4) Maharishi Valmiki
(5) TR AT ERd | (5) Not Attempted
80. e # @ @ €A T 1 T, @3 | 8o who among the following is the Minister of
gy HAT & 7 Environment, Forests and Wildlife of Haryana
P State ?
:;: 2%281 (1) Shree Dushyant Chautala
3) S da7 U (2) Shree Anil Vij
@ e e (3) Shree Kanwar Pal
S (4) Shree Mool Chand Sharma
(6) 3 T T M (5) Not Attempted
Page 17
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81.

82.

83.

84.

TS R =it ferrera Y areren 37 3 fere wfeard &
HRICHS FA ST §, e whvgr ) fiein forea weeed
®; T W SR 22

(1) i R

2) T TRE

) TR R™a

(4) W WEIE

(5) SN TN Ew)

ﬁmﬁf@aﬁﬁaﬁ'—rmqam‘mmm%%?
(1) = |

() =R F gy

(3) uiew Ifeik

(4) WY

(5) SWAH TN IR

v ot 3 il T < forarferamer fem 32
(1) =

(2) . IEFW

3) TeIm

4) HISER

(5) W TE <A =R |

- B i T T &g Tl ferar <hl ifisia
fFa S % 2

(1) 5
2 2
3 3
@) 4
(5) I AL A AEA
85. T shed g @a & fag wfas €2
(1) et
@ &
@) =g
@) T
5) W& TN awEd |
VNATH /11

81.

82.

83.

84.

85.

To promote the ancient Heritage
two festivals are held every year. 0
‘Pinjore Heritage festival’; which ig th
one ?
(1)
(2)
(3)
(4)
(9)

Lemon festival
Orange festival
Dates festival
Mango festival
Not Attempted

Which amongst the following is the S
of Haryana ?

(1) Sal Tree

(2) Banyan Tree
(3) Sacred Fig

(4) Mango Tree
(5) Not Attempted

In which district is the Indian N
Defence University located ?

(1) Karnal

(2) © Panchkula

(8) Gurugram

(4)  Faridabad

(5)  Not Attempted

Mukhya Mantri Pragatisheel Samman
is to motivate the progressive farmi
adopting best agriculture practices i
many categories of land holding ?

1y s

2 2
3 3
@ 4
(5)  Not Attempted

Garima Chaudhary is well known for ¥
sport ?

(1) Archery
(2)  Judo
(3)  Kabaddi

(4) Wrestling
(5) Not Attempted

% &4 o T8 7+l / SPACE FOR ROUGH WORK
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. . a6. Whic J i
. . h of the following, dance forms of ¥
P arve
ot tethe 7 b laryana

Wﬁﬁgﬁmﬂﬂaﬁrmwrﬂﬁ‘w’hﬁﬂ

86. mﬁ@gﬁ@?-?

o T

2 g

3 .

4)

:5) ﬁqﬁﬁaﬁél
87. q—g@aﬂﬂ?

1) TR

0 @ @

@ Tﬁz«:ﬁr&'ﬁ

) sred 2 T

®B) Wﬁmm@’ﬁ?ﬂ%|
;‘qaﬁa—m/éwa@%/%?

(1) ?@(A)ﬁﬂ"‘é(B)
(2 F59(A)
(3 &9 (B)

@ (a3 @
(5) A & T |

89, famfefan Fui v famm #f9T :
(A) muﬁawmﬁ%
gwﬁﬂﬁwmwmﬂtmmp
8 S T
(1) Fd@(a) dAA (B) .
(2) &= (A)
(3) ad (B)
(@) (a) ¥ (B) &
(5) WA = 9w |
VNATH /11

87.

88.

89.

is :\S:f:tw‘in'(‘d with Mew

(1) Gugea
l)h:nnnl

(2)
(3) Ratvai
1) phag
(5) Not /\H(:mptcd
who amongst the following did not play for
Haryana in Ranji Trophy ?
(1) garkar Talwar
(2) Maninder singh
(3) Kapil D&V
@) Rajinder Goel
(5) Not Attempted
Constder the following statements ,
(A) Sonipat and Jhajjar shar€ porder with
Delhi.
' (B) Rohtak does not share porder with Delhi.
which of the above statements is/are
correct ?

(1) Neither (&) nof (B)
(2) (A)only

(3) (B)only

(4) Both (A) and (B)

(5) Not Attempted

Consider the following statements :

(A) ~ Nada Sahib i
lada = ib Gurudwara 1s situated in

(B) Nada Sahib
Gurudwara is si
the bank of river Ghaggai‘s st O

Which of abov
the
ove statements is/are

(1) Neither (A) nor (B)
(2) (A)only

(3) (B)only

(4) Both (A) and (B)

(5) Not Attempted

I BT F fag
z
el / SPACE FOR ROUGH WOR
K
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90. zﬁqwnnmﬁwwaﬁmﬁxﬂ%%?

(1) S
2 8
@) 7
4 6
(5) L A =ed |
01. UL §Ren ME (T TH SH) ¥ ey #f Frefafaa A
J AT FA TR 2
(A) m@aﬁwwmwa@nmuﬁmﬁﬁ
(B) Gwﬁﬁn%w%ﬁa‘mrﬂq%n
mﬁﬁﬁq-m/ﬁmvﬁ%/%?
(1) @ (A) SRAR (B)
(2) S (A)
(3) =« (B)
@) (a) 3R (B) <A
(5) SO el o wed |
o2, R T s S Wi GREeE gan & fhE
fTmHE®?
1 T=
(2) F=R
(3) T==
4) fear

(5) SR AE T =R |

93. AR faa foe # fe@ 872

(1) Tedaw
(2) fe=

(3) FuA
(4) HE=IRE

(S) mqﬁ'&mml

VNATH / H1

6 &1 & feu 7T+ | SPACE FORRGG

90. How many Rajya Sabha seats does Hary%

have ?
(1 S
2 8
@ 7
4) 6

(5) Not Attempted

Consider the following statements in resp

10 ., .

. of National Security Guards (NSG) :

(A) Operational Headquarter of NSG is
Manesar.
(B) NSG comes under the control of Un;
Ministry of Home Affairs.

Which of the above statements is/:
correct ?
(1)  Neither (A) nor (B)
(2) (A)only
(3) (B)only
(4) Both (A)and (B)
(5) . NotAttempted

92. ?ndi_ra Gandhi Super Thermal Power Proj
I1s situated in which district of Haryana ?
(1) Jind
(2) Jhajjar
(3). Sirsa
(4) HiSar

93. In whi . ) [
i ll:hhdlstnct 1s Narnaul situated ?

ohtak
(2)  Jing
) Kaitha)
) Not Attempted

GH WO ’
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95.

v‘s’\maammm
T

>
5 A

o .
R I -

5 ST <A T

fffa § @ F1 SO F TG B AP
Foei 8§ A T TG €7

PR e
FTy e

1) W

@ fe=

@) HHd

(4 e

(5) S < 3R |
frfefian sl W frar R :

(A)  Tea ¥ qferd e feud €1
B g 3 gied STgFIeE fed €

IH E | HH-1/ A TS /€2
(1) =7 (a) 3T (B)
2 F=d (A)

B Fa=@(B)

4 (a) & (B) I

(5) " e = & = |
TR o 1 3 st £ 2
1) e

@ T

(3) efemon

@) dog

Bahudhanyakya

Hariyala

Which one of the following is not amongst the

major cotton growing districts of Haryana ?

Rewari

Sirsa

Sonipat
Ambala

Not Attempted

Consider the following statements :

Rohtak has a Police Commissionerate
located there.

Sonipat has a Police Commissionerate
located there.

Which of the above statements is/are
correct ?

95.
(1)
(2)
3)
(4)
(5)

96.
(A)
(B)
(1)
(2)
(3)
(4)
(5)

97.

(1)
(2)
(3)
(4)
(5

Neither (A) nor (B)
(A) only

(B) only

Both (A) and (B)
Not Attempted

Neemrana comes under which State ?

Uttarakhand
Rajasthan
Haryana
Punjab

Not Attempted

3% @14 & fe 2T | SPACE FOR ROUGH WORK
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98.

99,

100.

Tl T 1] 3 (S T @ ) San  frfefiad
FeEl W fa=m e ;

@A) TamEHwRdErEH A NY
fir 1

(B) Yo 1 < ww € wfamon ¥ o ww @ QY
s R

SR H AT/ T w8

@ 3 (a) R ()

2 F3= (a)

@) = (B

4 (A) IR (B) 2

O S Sy

‘%'mm""ﬁm?ﬁw%?

(1) =x

@ =

3) =fean

@) =

(5) W?ﬁ%mml

99 5 A 5 )

mm?m%;ﬁ T S I i

(1) g

@ =9

@) framn

@) s

. m"ﬁi’mmn

98.

99,

100,

~~

Consider the following statementg a

GSDP); '0n,
State Domestic Product ( 2
(A)  GSDP of Haryana is more the, :

Bihar.
(B) GSDP of Punjab is more than thay :

Haryana.
Which of the above statements is/ar‘
correct ?
(1)  Neither (A) nor (B)
(2) (A) only
(3) (B)only
(4) Both (A) and (B)
(5) Not Attempted
Ottu barrage ig on which river In Haryap,
(1) Ghaggar
(2) Yamung
3) Sahibg
(4) Tangl‘l
() ot Attempted
In whj
Surajll{clll'ln;nonth OF the year, the famo?
Haryang » ®la is hej every year !
(1) ebruary
() March
(4) Ctobey
() No

t
Attempted



